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QUESTION 1

In Cisco Transport Planner, which report do you reference to determine which wavelengths are used in which portions
of the network?

A. Traffic Matrix

B. Link Availability

C. Wavelength Routing
D. Internal Connections

Correct Answer: C

QUESTION 2

In which three modes can NCS 2000 100G line cards operate? (Choose three.)
A. transponder

B. amplifier

C. trunk using a separate client card

D. regenerator

E. encryptor

F. dispersion compensator

Correct Answer: ACD

QUESTION 3

Which environment does Cisco Transport Controller run in?
A. client/server

B. PC-based application

C. mainframe

D. on-demand, browser-based Java application

Correct Answer: D

QUESTION 4
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Refer to the exhibit.

Which action does the selected Cisco Transport Controller option allow the user to perform?
A. Create a new point-to-point demand.

B. Create a new fiber duct.

C. Add a node.

D. Analyze the network.

Correct Answer: A

QUESTION 5

Which two options are the two basic building blocks of the mesh patch panel? (Choose two.)
A. MF-MOD-DEG-5

B. MF-1x16-COFS

C. MF-4x4-COFS

D. MF-MOD-UPG-4

Correct Answer: AD
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